

BOONE COUNTY, MISSOURI

Request for Bid #: 76-30NOV15 - Crushed Stone Aggregate and Chip Seal Products

ADDENDUM # 2 - Issued November 30, 2015

This addendum is issued in accordance with the RFB Response Page in the Request for Bid and is hereby incorporated into and made a part of the Request for Bid Documents. Bidders are reminded that receipt of this addendum *should be acknowledged* and submitted with Bidder's *Response Form*.

Specifications for the above noted Request for Bid and the work covered thereby are herein modified as follows, and except as set forth herein, otherwise remain unchanged and in full force and effect.

 Addendum 2 shall replace Addendum 1. Please sign and submit Addendum 2 with your Bid Response.

By: Cheli Haley, Buyer
Boone County Purchasing

OFFEROR has examined **Addendum #2** to Request for Bid# 76-30NOV15 – Crushed Stone Aggregate and Chip Seal Products, receipt of which is hereby acknowledged:

Company Name:		_
Address:		
Phone Number:	Fax Number:	
E-mail:		
Authorized Representative Signature:		_
Authorized Representative Printed Name: _		_

			E QUAI VAL PR			ONE QUARRIES 1st Renewal 1-14 - 12-31-14 0% Increase		ONE QUARRIES 2nd Renewal 1-15 - 12-31-15 3% Increase	
4.7	DESCR	Unit of Measur o Tons	UNIT PRICE PER TON	EXTENDED PRICE	Renewal 1-1-14 - 12-31-14 UNIT PRICE	EXTENDED PRICE	2nd Renewal 1-1-15 - 12-31-15 UNIT PRICE	EXTENDED PRICE	
.7.1.	RSB	50,000	\$6.28	\$314,000.00	\$6.28	\$314,000.00	\$6.47	\$323,420.00	
.7.2.	SRI	75,000	\$6.69	\$501,750.00	\$6.69	\$501,750,00	\$6,89	\$516,802.50	
.7.3.	SR1.5	50,000	\$6.69	\$334,500.00	\$6.69	\$334,500.00	\$6.89	\$344,535.00	
1.7.4.	SR2.5	25,000	\$6.40	\$160,000.00	\$6.40	\$160,000.00	\$6.59	\$164,800.00	
1.7.5,	CR1	50,000	\$9.00	\$450,000.00	\$9.00	\$450,000.00	\$9,27	\$463,500.00	April 1 To the State of the Sta
1.7.6.	CR1.5	1,000	\$8.90	\$8,900.00	\$8.90	\$8,900.00	\$9.17	\$9,167.00	The state of the s
4,7,7.	CR2	500	\$7.96	\$3,980.00	\$7.96	\$3,980.00	\$8,20	\$4,099.40	
4.7.8.	CR3	1,500	\$7.96	\$11,940.00	\$7.96	\$11,940.00	\$8.20	\$12,298.20	
4.7.9.	MS	3,500	\$5.00	\$17,500.00	\$5.00	\$17,500.00	\$5.15	\$18,025.00	
1711	QR	1,500	\$7.39	\$11,085.00	\$7.39	\$11,085.00	\$7.61	\$11,417.55	
1.7.1	GQR	500	\$10.11	\$5,055.00	\$10.11	\$5,055.00	\$10.41	\$5,206.65	
47.13	SP	500	\$10.11	\$5,055.00	\$10.11	\$5,055.00	\$10,41	\$5,206.65	A Charles Selection (III)
4.7 13	WR	2,000	\$3.91	\$7,820.00	\$3.91	\$7,820.00	\$4.03	\$8,054.60	
171	4 GQR6X	1,500	\$10.11	\$15,165.00	\$10.11	\$15,165.00	\$10.41	\$15,619.95	
4.73	5 GQR6X	1,000	\$10.11	\$10,110.00	\$10.11	\$10,110.00	\$10,41	\$10,413.30	
471		1,500	\$10.87	\$16,305.00	\$10.87	\$16,305.00	\$11.20	\$16,794.15	
4.7.1	7 SC.5	6,000	\$10.87	\$65,220.00	\$10.87	\$65,220.00	\$11.20	\$67,176.60	
471	8 SP=Spa	1000	\$10.11	\$10,110.00	\$10.11	\$10,110.00	\$10.41	\$10,413.30	
4.71	9 Fill Materia	1000	\$5.25	\$5,250.00	\$5.25	\$5,250.00	\$5.41	\$5,407.50	
472	Pagged D Rock Pa ton add	1000	\$0.50	\$500.00	\$0.50	\$500.00	\$0,52	\$515.00	
	GRB	20000			\$6.90	\$138,000.00	\$7.11	\$142,140.00	
-		1	TOTAL	\$1,954,245.00	TOTAL	\$2,092,245.00	TOTAL	\$2,155,012,35	

BOONE QUARRIES RENEWAL PRICING								ONE QI 1st Res -1-14 - 1 0% Inc	newal 2-31-14			2nd Re	12-31-15								
				4.	L CHIP	SEAL PE	ICING -	POB PL/	INC ON	¥											
4.8.1.	Unit of Measure Tons DESCRIP TION APPROX MATE QTY		UNIT PRICE PER TON	EXTE	NDED PI	RICE	Int Renewal 1-1-14 - 12-31-14 UNIT PRICE PRICE PRICTIN 0%	EXTE	NDED P	RICE	PER TUPE	EXTENDED PRICE		RICE							
	SC.375	1,200	\$10.87 \$13,044.00 \$10.87 \$81,525.00				\$10.87 \$13,044.00			\$11.20		\$13,435.32	2								
	SC.5	7,500					\$10.87	0.87 \$81,525.00 \$11.					\$83,970.75	5							
	No.	0	TOTAL	3	94,569.00)	TOTAL	5	94,569.0	0	TOTAL		\$97,406.07	7							
-				40,044	MUMLE	% INCR	rase po	R SECTI	ONS 4.7.	AND 4.8.											
Maxin	Renewa							10.0	10%						10						
Maxim	sam % Inc	rease 2nd						10.0	0%	and the same of th											
-	Renewa			4.10	DELIV	ERY PRI	CING				T				4.10.	DELIVE	RY PRIC	ING	-		
			1-1-1412-31-14													1-1-15	- 12-	31-15			
	0.4		A	-	C		8	F F	G	H			-	В	CDRFGH						
	Section	Schodule		B- \$2.00 -	\$2.25 -	B \$2.50 -	\$2.75 -	\$3.00-	\$3.25	\$3.50 -	\$3.75 -		-	\$2.00 -	\$2.25 -	52.50 -	\$2,75 -	\$3,00-	\$3.24	\$3.50	\$3.75
	Fuel	Price	<\$2.00	<2.25	<2.50	<2.75	<3,00	<3.25	<3.50	<3.75	\$4,00		<\$2,00	<2.25	<2.50	<2.75	<3.00	◆3.25	<3.50	<3.75	<\$4.00
	Distanc	e (Miles)	\$/ Ton	\$/Ton	5/Ton	5/Ton	\$/Ten	S/Tom	\$ / Yes	5 ! Tan	\$/Ton		S/Ten	S/Ten	5/Ten	\$ / Ten	S/Ton	\$/Ten	5/Ton	\$/Ton	S/To
\$.10 I.	0 -	<5	\$2.58	\$2.58	\$2.58	\$2.58	\$2.58	\$2.58	\$2.70	\$2.72	\$2.75		\$2.66	\$2.66	\$2,66	\$2.66	\$2,66	\$2.66	\$2.78	\$2.80	\$2.83
4,10 =	5	<10	\$3.29	\$3.29	\$3.29	\$3.29	\$3.29	\$3.29	\$3.45	\$3.48	\$3.51		\$3.39	\$3.39	\$3.39	\$3.39	\$3.39	\$3.39	\$3.55	\$3.58	\$3.62
4.10.3	10 -	- <15	\$3,77	\$3.77	\$3.77	\$3.77	\$3.77	\$3.77	\$3.95	\$3.99	\$4.02		\$3.88	\$3,88	\$3.88	\$3.88	\$3.88	\$3.88	\$4.07	\$4.11	\$4.14
4 10 4	15	<20	\$4.57	\$4.57	\$4,57	\$4.57	\$4,57	\$4.57	\$4.79	\$4.83	\$4.88		\$4.71	\$4.71	\$4.71	\$4.71	\$4.71	\$4,71	\$4.93	\$4.97	\$5,03
4 10.5	20 -	< 25	\$5.31	\$5.31	\$5.31	\$5,31	\$5.31	\$5.31	\$5.57	\$5.62	\$5.67	,	\$5.47	\$5.47	\$5.47	\$5.47	\$5.47	\$5.47	\$5.74	\$5.79	\$5.84
4 10.6	25	<30	\$5.75	\$5.75	\$5.75	\$5.75	\$5.75	\$5,75	\$6.03	\$6.08	\$6.14		\$5,92	\$5.92	\$5.92	\$5.92	\$5.92	\$5,92	\$6.21	\$6,26	\$6.32
4 10 7	30	- <35	\$6.64	\$6,64	\$6,64	\$6,64	\$6,64	\$6.64	\$6,96	\$7.03	\$7.09		\$6,84	\$6.84	\$6.84	\$6.84	\$6.84	\$6,84	\$7.17	\$7.24	\$11.0
		MENT		111	THOP 44	0.	1			1	1	Transfer part						1			
Marin	osan % Inc	crease Lat					. ,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,					10.00%									
Migai	num % Inc	prease 2nd									-										
4.12.	Location	of Vendor		.1. 21	0 0	F	1641	- 140	202			10 nots			24	14	2610.57	Sanding 1	N-1 C-1		0 44304
	Plant Honor P	ricing for	East So	sie - 3101	Licesy S	ринду Ко	ad Columb	IR, MU 65	202						-	west Scale	-2510 N	Stadnim I	SIVIL, LOS	unicut, M	0 65202
4.13.	New Pla	nts during										Y						.,			
4,14,	Coopera	ng? Yor										8									
4.15.	Provide	muterial	1									Y									

...

WAL PRICING BEING - CRUMBED STONE SUBJECT OF MANAGEMENT ASSESSION LIPTION APPROXIMATE OF				Limenton, Ruger	- International Control of the Contr		_	-			Limerstun. Itilica			
Unit of Measure Ton	1	RIGGS QUARRY RENEWAL PRICING							MULKI	RSHURG QU	ARRY E	DIEWAL, PR	ECING	
	UNIT PRICE PER TON	EXTENDED PRICE	1-1-14 - E3-23-14 UPET PRICE JUEN TOPE 8% Incresses	EXTENDED PRICE	Total Commondate of the Common	EXTENDED PRICE		UNIT PRICE PER TON	EXTENDED PRICE	Int filmound L-0-16 - 20-20-14 UPUT PRICES PER TON 694 Interess	ERTENDED PRICE	And Renoved 1-1-16 - 15-31-16 UPST PRICE PER TON 914 Inscense	EXTENDED PRICE	
SH \$0,000	6,00	\$300,000.00	\$6.30	\$315,000.00	\$6.30	\$315,000.00		5.75	\$287,500.00	5.75	\$287,500.00	5.75	\$287,500.00	
R1 75,000	6,95	\$521,250.00	\$7.30	\$547,312.50	\$7,30	\$547,500.00		6.70	\$502,500.00	6.70	\$502,500.00	6.70	\$502,500.00	
1.5 50,000	6.95	\$347,500,00	\$7.30	\$364,875.00	\$7.30	\$365,000.00		6.70	\$335,000.00	6.70	\$335,000.00	6.70	\$335,000.00	
2.5 25,000	6.95	\$173,750.00	\$7.30	\$182,437.50	\$7.30	\$182,500.00		6,70	\$167,500.00	6.70	\$167,500.00	6.70	\$167,500.00	
Ri 50,000	9.25	8462,500.00	\$9.71	\$485,625.00	\$9.71	\$485,500.00		9.00	\$450,000.00	9.00	\$450,000.00	9.00	\$450,000.00	
1,000	8.50	\$8,500.00	\$8.93	\$8,925.00	\$8,93	\$8,930.00		8.40	\$8,400.00	8.40	38,400.00	8.40	\$8,400.00	
R2 500	8.50	\$4,250.00	\$8.93	\$4,462.50	\$8.93	\$4,465.00		8.40	\$4,200.00	8.40	\$4,200.00	8.40	\$4,200.00	
R3 1,500	8.50	\$12,750.00	\$8.93	\$13,387.50	\$8.93	\$13,395.00		8.40	\$12,600.00	8.40	\$12,600.00	8.40	\$12,600.00	
48 3,500	9.00	\$31,500.00	\$9.45	\$33,075.00	\$9.45	\$33,075.00		9.00	\$31,500.00	9.00	\$31,500.00	9.00	\$31,500.00	
OR 1,500	6.45	\$9,575.00	\$6.77	\$10,158.75	\$6.77	\$10,155.00		6.45	\$9,675.00	6.45	\$9,675.00	6.45	\$9,675.00	
QR 500	9,25	\$4,625.00	\$9.71	34,856.25	\$9.71	\$4,855,00		8.85	\$4,425.00	8.85	\$4,425.00	8.85	84,425.00	
SP 500	8,75	\$4,375.00	29.19	34,593.75	\$9.19	\$4,595.00		8.50	\$4,250.00	8,50	\$4,250.00	8.50	\$4,250.00	
VR 2,000	3.25	\$6,500.00	\$3.41	\$6,825.00	\$3.41	\$6,820.00		3.00	\$6,000.00	3.00	\$6,000.00	3.00	\$6,000.00	
R6X9 1,500	9.25	\$13,875.00	39.71	814,568.75	\$9.71	\$14,565.00		9.00	\$13,500.00	9.00	\$13,500.00	9.00	\$13,500.00	
26X12 1,000	9.25	\$9,250.00	89.71	\$9,712.50	\$9,71	\$9,710,00		9.00	\$9,000.00	9.00	\$9,000.00	9.00	\$9,000.00	
2.375 1,500	15.00	\$22,500.00	\$15.75	\$23,625.00	\$15.75	\$23,625.00		no bid	#VALUE!	no bid	#VALUE!	no bid	#YALLIE!	
C.5 6,000	13.00	\$78,000.00	\$13.65	\$81,900.00	\$13.65	\$81,900.00		bid on	PVALUE	no bid	#VALUE!	no bid	(VALUE)	
Spails 1000	8.75	\$8,750.00	\$9.19	\$9,187.50	29.19	\$9,190.00		8.50	\$8,500.00	8.50	\$8,500.00	8.50	\$8,500.00	
Viaterial 1000	3.00	\$3,000.00	\$3.15	33,150.00	83,15	\$3,150.00		3.00	\$3,000,00	3.00	\$3,000.00	3.00	\$3,000,00	
ed Roak n add sat. 1000	0.50	\$500.00	\$0.53	\$525.00	\$0.53	2530.00	2,000	0.50	\$500.00	0.50	\$500.00	0.50	\$500.00	
RB 20000			36.30	\$126,000.00	\$6.30	\$126,000.00				5.75	\$115,000.00	5.75	\$115,000.00	
	TOTAL	\$2,623,864.00	TOTAL	81,114,262.50	TOTAL	\$2,258,460.00		TOTAL	\$1,859,050.00	TOTAL	31,973,850.00	TOTAL	\$1,973,050.00	
					44 CUP MAL N	MCING DOS TEAMY CHE	W							
DIFFERENCE TONS	IN UNIT PESCE PA	EXTENDED PRICE	to Second 1-1-64 - 12-75-L4 UNIT FISCE FICE TOP 6W Internals	EXTENSES PROCE				UNIT PRICE PER TON	SELECTION SERVER	14 Reports 1-1-16-13-01-16 UNIT PRICE PER TON 994 Innocase	EXTENDED PRICE	1-1-4 - 13-35-44 UPGT FULLE PGE TON FK Incress	ECTEMPHS WHICH	
C.375 1,200	835.00	\$18,000.00	815.75	30,00				no bid	\$9.00	no bid	\$0.00	no bid	\$0.00	
BC.5 7,500	313.60	\$97,500.00	313.63	80.00				the on	\$0.00	tied op.	\$0.00	hild on	\$0.00	
	TOTAL	\$115,890,00	TOTAL	\$0,00			1	TOTAL	\$0.00	TOTAL	\$0.00	TOTAL	\$6.60	Taran maria
THE RESERVE OF THE RE	2.5 25,000 R1 56,000 R1 56,000 R2 500 R3 1,500 d8 3,500 R8 1,500 R	2.5 25,000 6.95 R1 50,000 9.25 11.5 1,000 8.50 R2 500 8.30 R3 1,300 8.50 68 3,500 9.00 R8 1,300 6.45 QR 500 9.25 RP 500 8.75 PR 2,000 3.25 R6K9 1,500 9.25 1,500 13.00 R75 1,500 15.00 R75 1,500 15.00 RRB 20000	2.5 25,000 6.95 \$173,750,00 R1 50,000 9.25 \$462,500,00 9.25 \$462,500,00 9.25 \$462,500,00 9.25 \$18,500,00 9.25 \$12,790,00 9.25 \$12,790,00 9.20 \$112,790,00 9.20 \$112,790,00 9.20 \$112,790,00 9.20 \$112,790,00 9.20 \$112,790,00 9.20 \$112,790,00 9.20 \$12,75 \$4,375,00 9.25 \$4,375,00 9.25 \$4,375,00 9.25 \$13,675,00 9.25 \$13,675,00 9.25 \$13,675,00 9.25 \$13,675,00 9.25 \$13,675,00 9.25 \$13,675,00 9.25 \$13,675,00 9.25 \$13,675,00 9.25 \$13,00 \$22,500,00 9.25 \$13,00 \$22,500,00 9.25 \$13,00 \$22,500,00 9.25 \$15,00 \$22,500,00 9.25 \$15,00 \$22,500,00 9.25 \$15,00 \$22,500,00 9.25 \$15,00 \$22,500,00 9.25 \$15,00 \$22,500,00 9.25 \$15,00 \$22,500,00 9.25 \$15,00 \$22,500,00 9.25 \$15,00 \$22,500,00 \$22,500,00 \$22,500,00 \$22,500,00 \$22,500,00 \$22,500,00 \$22,500,00 \$22,500,00 \$22,500,00 \$22,500,00 \$22,500,00 \$22,500,00 \$22,500,00 \$22,500,00 \$22,500,00 \$23,000,00	2.5 25,000 6.95 \$173,750.00 \$7.30 R1 50,000 9.25 \$462,500.00 \$9.71 11.5 1,000 8.90 \$8,500 \$8,50.00 \$8.93 R2 500 8.50 \$4,250.00 \$8.93 R3 1,900 8.50 \$12,790.00 \$8.93 158 3,500 9.00 \$31,500.00 \$9.45 R8 1,900 6.45 \$9,675.00 \$6.77 QR 500 9.25 \$4,625.00 \$9.71 R6 2,000 \$3.25 \$6,500.00 \$3.41 R6X9 1,500 9.25 \$13,675.00 \$9.71 R6X12 1,000 9.25 \$9,250.00 \$9.71 R6X12 1,000 9.25 \$9,250.00 \$9.71 R6X12 1,000 9.25 \$9,250.00 \$15.75 C.5 6,000 13,00 \$78,000.00 \$15.75 C.5 6,000 \$15.00 \$22,500.00 \$15.75 C.5 6,000 \$3.00 \$78,000.00 \$15.75 R6Reial 1000 \$.75 \$8,750.00 \$9.19 R6Reial 1000 \$0.50 \$3,000.00 \$3.15 R6Reial 1000 \$0.50 \$3,000.00 \$15.75 R6Reial 1000 \$0.50 \$15,000.00 \$15.75 R6Reial 1000 \$15.00 \$15.00 \$15.00 \$15.75 R6Reial 1000 \$15.00 \$15.00 \$15.00 \$15.75	2.5 25,000 6.95 \$173,750.00 \$7.30 \$182,437.50 \$1.50,000 9.25 \$462,500.00 \$9.71 \$485,625.00 \$1.55 \$1,000 8.50 \$8,50 \$8,500.00 \$8.93 \$8,925.00 \$8.22 500 8.50 \$4,250.00 \$8.93 \$4,462.50 \$8.31 \$1,500 8.50 \$12,750.00 \$8.93 \$13,387.50 \$1.50 \$9.00 \$31,500.00 \$9.45 \$33,075.00 \$1.50 \$9.25 \$4,625.00 \$9.45 \$33,075.00 \$1.50 \$9.25 \$4,625.00 \$9.71 \$4,856,25 \$1.50 \$9.25 \$4,625.00 \$9.71 \$4,856,25 \$1.50 \$9.25 \$4,625.00 \$9.71 \$4,856,25 \$1.50 \$9.25 \$13,875.00 \$9.19 \$4,593,75 \$1.50 \$1.500 \$9.25 \$13,875.00 \$9.71 \$14,568.75 \$1.500 \$9.25 \$13,875.00 \$9.71 \$14,568.75 \$1.500 \$9.25 \$1.500 \$9.25 \$9.250.00 \$1.500 \$9.71 \$14,568.75 \$1.500 \$9.25 \$1.500 \$9.71 \$14,568.75 \$1.500 \$1.500 \$9.25 \$9.250.00 \$1.5.75 \$23,625.00 \$1.500 \$1.500 \$1.500 \$1.500 \$1.500 \$1.5.75 \$23,625.00 \$1.500 \$1.500 \$1.500 \$1.500 \$1.500 \$1.500 \$1.500 \$1.5.75 \$1.500 \$1.5.75 \$1.500 \$1.500 \$1.500 \$1.500 \$1.5.75 \$1.500 \$1.5.75 \$1.500 \$1.500 \$1.500 \$1.500 \$1.500 \$1.500 \$1.5.75 \$1.500 \$1.500 \$1.500 \$1.500 \$1.500 \$1.5.75 \$1.500 \$1.500 \$1.500 \$1.500 \$1.500 \$1.500 \$1.5.75 \$1.500 \$1.5.75 \$1.500 \$1	2.5 25,000 6.95 \$173,750,00 \$7.30 \$182,437.50 \$27.50 \$1.1.5 \$1,000 \$2.25 \$462,500,00 \$9.71 \$485,625.00 \$9.71 \$1.1.5 \$1,000 \$8.50 \$8,500.00 \$8.93 \$8,925.00 \$8.99 \$8.93 \$8,925.00 \$8.93 \$11,500 \$8.50 \$112,790,00 \$8.93 \$113,387.50 \$8.93 \$13,387.50 \$8.93 \$13,387.50 \$8.93 \$13,387.50 \$8.93 \$13,387.50 \$9.00 \$31,500.00 \$9.45 \$933,075.00 \$9.45 \$9.45 \$933,075.00 \$9.45 \$9.45 \$933,075.00 \$9.45	2.5 25,000 6.95 \$173,750,00 \$7.30 \$182,437.50 \$7.30 \$182,500,000 R1 50,000 9.25 \$4462,500,00 \$9.71 \$485,625.00 \$9.71 \$485,500,000 R1.5 1,000 8.90 \$8,90 \$8,90 \$8,93 \$8,930,00 R2 500 8.30 \$4,250,00 \$8.93 \$4,465.00 \$8.93 \$4,465.00 R3 1,500 8.50 \$12,750,00 \$8.93 \$13,387.50 \$8.93 \$13,395.00 R3 3,500 9.00 \$31,500,00 \$9.45 \$33,075.00 \$9.45 \$33,075.00 RR 1,500 6.45 \$9,675.00 \$6.77 \$10,158.75 \$6.77 \$10,155.00 RR 1,500 9.23 \$4,625.00 \$9.71 \$44,856.25 \$9.71 \$4,855.00 RR 500 9.23 \$4,625.00 \$9.71 \$44,856.25 \$9.71 \$4,855.00 RR 2,000 \$3.25 \$6,500.00 \$3.41 \$6,825.00 \$3.41 \$6,825.00 \$3.41 \$6,825.00 RR 2,000 \$3.25 \$6,500.00 \$9.71 \$14,568.75 \$9.19 \$4,593.00 RR 2,000 \$3.25 \$6,500.00 \$9.71 \$14,568.75 \$9.71 \$14,565.00 RR 2,000 \$3.25 \$9,250.00 \$9.71 \$14,568.75 \$9.71 \$9,710.00 RR 2,000 \$3.25 \$9,250.00 \$9.71 \$9,712.50 \$9.71 \$9,710.00 RR 2,000 \$3.00 \$32,500.00 \$13.65 \$91,500.00 \$13.65 \$91,900.00 RR 2,000 \$3.00 \$30,000 \$9.15 \$91,100.00 \$31,15 \$31,150.00 RR 2,000 \$13.00 \$13,000 \$91,000 \$13,65 \$91,100.00 RR 2,000 \$13.00 \$13,000 \$13,65 \$91,100.00 \$13,65 \$91,100.00 RR 2,000 \$13.00 \$13,000 \$13,65 \$91,100.00 \$13,65 \$91,100.00 RR 2,000 \$13,000 \$13,000 \$13,65 \$91,100.00 \$13,65 \$91,100.00 RR 2,000 \$13,000 \$13,000 \$13,65 \$10,000.00 RR 2,000 \$13,000 \$13,000 \$13,000 \$10,000 RR 2,000 \$13,000 \$10,000 \$10,000 RR 2,000 \$10,000 \$10,000 RR 2,000 \$10	2.5 25,000 6.95 \$173,750,00 \$7.30 \$182,497.50 \$7.30 \$182,500.00 \$1.15 \$10,000 9.25 \$462,500.00 \$89.71 \$485,625.00 \$8.71 \$485,500.00 \$1.15 \$1,000 8.50 \$8,90.00 \$8.93 \$8,925.00 \$8.93 \$8,930.00 \$8.23 \$1,000 8.50 \$12,750.00 \$8.93 \$13,387.50 \$8.93 \$10,158.75 \$8.77 \$10,155.00 \$8.98 \$1.90	2.5 25,000 6.95 \$173,750.00 \$73.00 \$182,497.50 \$73.00 \$182,500.00 6.70 RI 58,000 9.25 \$442,500.00 \$9.71 \$485,623.00 \$9.71 \$485,900.00 9.00 8.15 1,000 8.50 \$38,500.00 \$8.93 \$8,925.00 \$8.93 \$8,930.00 8.40 8.2 500 8.50 \$41,250.00 \$8.93 \$113,387.50 \$3.89 \$41,465.00 8.40 8.3 1,500 8.50 \$112,750.00 \$8.93 \$113,387.50 \$3.93 \$113,395.00 8.40 8.6 3,500 9.00 \$31,500.00 \$9.45 \$33,075.00 \$9.00 8.7 1,500 6.45 \$9,675.00 \$6.77 \$10,158.75 \$6.77 \$10,158.00 6.45 8.8 1,500 6.45 \$9,675.00 \$9.71 \$44,850.00 8.83 8.9 500 9.23 \$44,250.00 \$9.71 \$44,850.00 8.85 8.9 500 8.75 \$43,750.00 \$9.19 \$44,950.00 8.50 8.609 1,500 9.23 \$13,875.00 \$9.19 \$44,950.00 \$3.00 8.609 1,500 9.25 \$92,500.00 \$9.71 \$14,563.00 \$3.14 \$66,820.00 \$0.00 8.6012 1,000 9.25 \$92,500.00 \$9.71 \$97,12.50 \$9.71 \$97,100.00 \$9.00 8.6012 1,000 \$8.73 \$93,750.00 \$91.1 \$99,712.50 \$97.11 \$91,665.00 \$9.00 8.6013 1,500 \$15.00 \$22,500.00 \$15.75 \$23,625.00 \$15.75 \$22,625.00 \$10,600 8.6014 1,000 3.00 \$30,000.00 \$3.15 \$31,150.00 \$31,150.00 \$3.00 8.6014 1,000 \$8.73 \$83,750.00 \$9.19 \$91,190.00 \$3.15 \$31,150.00 8.6015 1,000 \$13.00 \$77,600.00 \$13.65 \$81,600.00 \$3.15 \$31,150.00 \$31,000.00 8.6016 1,000 1,000 1,000 1,000 1,000 1,000 1,000 8.6017 1,000 1,000 1,000 1,000 1,000 1,000 1,000 8.6018 1,000 1,000 1,000 1,000 1,000 1,000 8.6018 1,000 1,000 1,000 1,000 1,000 8.6018 1,000 1,000 1,000 1,000 1,000 8.6018 1,000 1,000 1,000 1,000 8.6018 1,000 1,000 1,000 1,000 8.6018 1,000 1,000 1,000 1,000 8.6018 1,000 1,000 1,000 8.6018 1,000 1,000 1,000 8.6018 1,000 1,000 1,000 8.6018 1,000 1,000 1,000 8.6018 1,000 1,000 1,000 8.6018 1,000 1	2.5 23,000 6.95 \$173,750.00 \$9.30 \$182,497.50 \$173,000 \$163,000 6.70 \$1167,500.00 \$1.50 \$163,000.00 \$9.21 \$465,500.00 \$9.00 \$440,000.00 \$1.1.5 \$1,000 \$1.50 \$183,000 \$1.50 \$183,000 \$1.50 \$183,000 \$1.50 \$183,000 \$1.50 \$183,000 \$1.50 \$183,000 \$1.50 \$183,000 \$1.50 \$183,000 \$1.50 \$183,000 \$1.50 \$183,000 \$1.50 \$183,000 \$1.50 \$1.	13 15,000 6.95 1717,750.00 197.30 1818,497.50 197.00 1818,450.00 6.70 1816,750.00 6.70 1816,750.00 6.70 1816,750.00 6.70 1816,750.00 6.70 1816,750.00 9.00 1840,000.00 9.00 1840,000.00 9.00 1840,000.00 9.00 1840,000.00 9.00 1840,000.00 9.00 1840,000.00 1840 18.00 1	13 15,000 6.95 1317,750,00 19:30 1314,477.50 19:30 1318,250.00 6.70 13167,500.00 6.7	23 35,000 6.95 \$117,750,00 \$23.0 \$182,477.50 \$33.0 \$183,500.00 6.70 \$187,500.00 6.70 \$187,500.00 6.70 \$187,500.00 6.70 \$187,500.00 6.70 \$187,500.00 6.70 \$187,500.00 6.70 \$187,500.00 9.00 \$480,000.00 9.00	12.5 21,000 6.55 3177,700,00 27.50 318,477.50 37.50 318,477.50 37.50 318,500,00 6.70 3187,500,00 6.70 3187,500,00 6.70 3187,500,00 6.70 3187,500,00 6.70 3187,500,00 6.70 3187,500,00 6.70 3187,500,00 6.70 3187,500,00 6.70 3187,500,00 6.70 3187,500,00 6.70 3187,500,00 6.70 3187,500,00 6.70 3187,500,00 6.70 3187,500,00 6.70 3187,500,00 6.70

		1				08-14FE									-	-									F						
RENEWAL PRICING Mid-Missouri Linuston, Riogs (mate)						mater								tid-Attrumen	timesin	n Wille	rshare (Juers	1		(1-1-1-1-1-1-1-1-1-1-1-1-1-1-1-1-1-1-1-							2000				
-		JUSTANDE MINCE UNION GOARDS DIRECTED CONTRACE									SCHARES	inclusion.	and di	Market Sec	-54 6%	Harbattany We	18	-90	1			3000	POSICE DATE	Paradingge Sagar ann ann ann ann ann ann ann ann ann a							
Consupersion in	Anthodists	*	•	£	B	ji.		G	50	1	A	0	c	D	ū	F	6	额		A	Ц		A	9	e	D	E	p	G.	10	1
	Fuel Pylor	*S2.P9	\$2.80 - <2.25	531.39 <2.50	\$3.50 - <3.75	12.75 3,00	£31.00- <3.25	83.25 - <3.50	\$1.50 - <1.73	53.15 - nL00	-11.8	12.00 ·	12.88 <2.50	\$8.86 · <2.75	(\$4.98 <3.00	93.8m. <3.26	18.3R- <0.50	\$3050 - +d 15	53.79	*S3.00	53-47	\$3,79 <4.00	-12.00	\$3,00 · <1.25	12.16 <2.00	\$社(数) <3.75	88,78 . <3,00	\$3,00. <3,25	10,38.~ <3.59	31.50 <3.75	\$3.79 <4.6
	Districture Cristian)	\$ - Tone	šć Ten	II (Year	B I Trade	E r Tons	g. 1 Tang	f (Tes	F/Tem	1 c Tem	S/Ton	1) Test	SPTen	E) Weds	2/Yan	A/Tso	Two	5/Tms	\$ 1 T upon	life	1 (See	2/Yes	1/Yes	1.) You	2 / Tem	3 - Tam	£, Yam	\$c¥mb	9/10m	3/10m	S + Ton
4.01		\$2.42	224	12.42	\$2.42	12.49	\$2.55	\$72.68	\$3.81	\$2,94	EJ.54	\$2,54	32.54	22.54	52.54	\$2.68	\$2.8;	₩.95	\$3.09	52.54	\$2,67	\$3.67	82.54	\$2.54	\$2.54	52.54	23.54	32.68	\$2.81	\$2.95	\$5.0
	5 <h< td=""><td>\$3.12</td><td>\$3.12</td><td>\$3.12</td><td>23.12</td><td>\$3.12</td><td>\$3.25</td><td>\$3.38</td><td>\$3.51</td><td>23,64</td><td>F3.28</td><td>\$3.28</td><td>\$3.28</td><td>53.28</td><td>\$3,28</td><td>23.41</td><td>39.55</td><td>\$3.69</td><td>\$3.02</td><td>53.28</td><td>23.64</td><td>23.44</td><td>\$3.28</td><td>\$3.28</td><td>\$9.28</td><td>53.24</td><td>\$3.20</td><td>\$3.41</td><td>23.55</td><td>23.69</td><td>53.8</td></h<>	\$3.12	\$3.12	\$3.12	23.12	\$3.12	\$3.25	\$3.38	\$3.51	23,64	F3.28	\$3.28	\$3.28	53.28	\$3,28	23.41	39.55	\$3.69	\$3.02	53.28	23.64	23.44	\$3.28	\$3.28	\$9.28	53.24	\$3.20	\$3.41	23.55	23.69	53.8
4312	b0 · <15	\$3.82	\$3.62	23.82	\$3.02	\$3.82	\$3.95	54,06	34.31	3434	\$4.01	\$4,01	34.01	34.01	34.01	84.15	34.28	\$4.42	\$4.56	\$4.01	\$4,21	\$4.21	24.01	\$4.01	\$4,01	84.01	\$4.01	94.13	84.38	34.42	34.5
4.10.4	15 - 420	84,52	84.52	84.52	84.32	84.52	84.65	34,75	94.91	25.04	\$4.75	34.75	34.75	34,75	84.75	\$4.88	\$4.99	25.16	\$5.29	\$4.73	\$4,98	\$4.98	84.75	34.75	84.75	84.75	\$4,75	\$4.86	84.99	\$3.16	25.3
4194	29 28	53.22	25.22	\$5.22	85.22	\$5.22	35.35	\$5.48	33.51	85.74	\$5.48	\$5.48	85.48	85.48	35.48	\$3.62	\$3.75	\$5,89	\$6.03	\$5.49	\$5,76	\$5.76	\$5,48	83,48	85.48	\$5,48	35.48	\$3.62	\$5.75	\$5,89	26.0
e inte	18. <89	\$5.92	\$5.92	25.573	\$5,92	\$5.92	36.05	36.13	86.31	36,44	\$6.22	26.22	36.22	B6,22	\$6.22	36.35	36.49	36.63	34,76	36.32	\$6.53	96.13	\$6.22	\$6.22	\$6.22	\$6.22	\$6,22	26.35	\$6.49	\$6.63	36.7
4107	36. AM	36.62	\$6.62	\$6.62	96.62	34.62	\$6.75	\$6.88	97.01	97.14	36.93	86.95	35.95	\$8,95	\$6.95	37.09	\$7.22	\$7.36	\$7.50	26.95	\$7.30	97.50	\$6.95	\$6.95	96.95	96,95	36.95	\$7.09	\$7.32	27.36	37.5
and the second description of the second	through dealership	To To	an arradi	riyadi	r ivens.)ipi	hqueria qua	M. Oyal	irity). Lit	METALVET		100	PARRIET SI	men Mil	The sampledness	Miles Phi	CLARG.	AND MAL.	3-8-84 13	95-44	MI	JVENT PRICE NO.	Amountho e	ULANUV 1970	MITTEWAS.				2-1-1	id	n def likt	RIAD
A trail colonia	D-she-fi-she	A	B	C	D	Ř	*	G.	b	1	A	3	E	Ð	×	•	a			A	H		A	11	c	D	li li		ığ.	65	
	Pied Pilo	-12.80			12.50 - <3.75	52.76 - <3.60		11 H -	45.49 - - - 0.73	EX.751 - +14.000	40.00	\$1,00 <2,25	12.35 - <2.50	12.60 - <2.75	\$3.75- <3.60	33.00L <3.38	1AM - <0.30	13.55 - 43.75	93.79 ~4.00	-32.0	5 20:301.75	13,75 <4.00	*12.0b	\$1.600 · <2.25	9.B 4.9)	\$2.00 . <2.75	(3.00	\$3.25 <3.25	99.20 - <3.59	53.5R- <3.75	- OL
	Styleane (%) (he)	8 I \$140	B 3 Took	Tabe	Ties	T I Topp	Tun	T/Tre	SITWE	3 Tues	5/Tex	S/Ten	3/Tan.	3/Tm	:S 'Ton	23 Ton	S/Tan	S/Tap	S. Tall	\$7 Tu	n 1/Year	B) You	97 Poin	B/Ton	3+Ten	SiTes	\$ (Tan	\$17m	5/Ten	5/You	S/ Yes
T101	\$ · <\$	\$2.42	\$2,47	17.47	32.42	\$2.42	\$2.55	32.68	32.81	\$2.94	20	\$2.42	52.42	\$2.42	\$2.42	\$2,55	\$2.68	\$2.81	\$2.94	52.45	\$2.81	\$2.94	\$2.42	\$2.42	24	51.4	22.42	12.55	\$2.68	\$2.81	32.
4,10,2	7 ····R	93,12	\$3,12	\$3,12	\$3.12	\$3,12	\$3.25	53.38	\$3.51	83.64	53.12	\$3.12	\$3.12	\$3.12	83,12	33.25	\$3,38	\$9.51	53.64	13.13	\$3.51	\$3.64	\$3.12	\$5,13	\$3,12	\$3.12	\$3.12	\$3.25	\$2.38	\$3.51	33,
4103	29.415	53.82	D.83	\$3.80	\$3,82	\$3.82	\$3.95	\$4.02	84.21	\$4.34	83.12	23.12	53.82	\$3.63	23.82	\$3.95	\$4,08	84.21	94.34	\$18	34.21	\$434	29.82	\$3.82	23.12	\$3.82	53.42	\$3.95	34,08	\$4.21	\$4.
slus	18 - <39	34.52	\$4.50	2 94.52	34.52	34.52	34.6	84,75	\$4,91	\$5.04	84,52	34,52	84.52	84.57	\$4.52	\$4.63	34,71	\$4.91	35.04	\$4.5	34.91	\$5,04	84.52	84,52	\$4.52	\$4.52	\$4.52	\$4,65	\$4,70	34.91	\$5,
1107	月	85.32	\$5.2	2 \$5.2	\$5.22	\$5.22	25.3:	33.48	33,51	23.74	\$5.12	\$9.22	\$5,22	\$5.22	\$5.22	\$5.35	25.42	\$5.61	\$3.74	\$5.2	2 35,61	25.74	83.22	\$3.22	35.22	\$5.22	\$5.22	25.35	25.42	25,61	\$5.
4184	##	85.92	30.9	25.9	\$3.92	\$5.92	36.0	56,18	\$6.31	36.44	\$5.92	\$1.92	25.92	\$5.92	\$5.92	96.05	\$6.18	9631	36.44	\$5.9	2 \$6.31	86.44	\$5.92	\$5,92	25.92	25.91	95.92	\$6,05	36.18	26.31	\$6.
4313	11-41)	\$6.62	3.2	2 26.6	36.62	36.62	\$6.7	\$6.86	\$7.01	87.14	25.62	\$6.63	36.62	\$6.62	\$6.62	\$6.75	\$6.98	\$7.01	87.14	\$6.6	2 \$7.01	\$7.14	\$6.62	\$6.62	\$6.63	36,62	36.62	\$6.73	36.88	17.01	\$7.
111	men let Berevel nen Jed Surpen) Sets of Vento Pint n Princes for Ven Plants during Com					10%													udages & river in the film in the control of the co												
A14 Cour	restibu Pendicalny? Y or N de agranal other named West Hanga						44-,	12.727												-			1	-				-		-	-